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irb(main):017:0> "abcd"*2
=> "abcdabcd"
+ irb(main):018:0> "abcd"+"efgh"
=> "abcdefgh"
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o :’30)X$§”0)5§$E => "AbcAbcAbc" [ e P
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irb(main):00:0> "x+y" + "z"
=>"x+yz"
irb(main):01:0> ( "abcd" + "efg" ) * 2
=> "abcdefgabcdefg"

irb(main):02:0> "abcd" * 2 + "efg"
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irb(main):00:0> "abcd” size
;;(?‘nain):m :0> "abcd" length ‘ruby programming”
;;(?nain):02:0> "abcd".reverse ot |2y 3|45 |67 |89 10
=> "dcba" rlul b |y p | r|lo|leg|r|al|m

irb(main):03:0> "abcd"[0..1]

=>"ab"

irb(main):04:0> "abcd"[0..2]

=>"abc"

irb(main):05:0> "ruby programming".index( "pro" )
=5

irb(main):06:0> "ruby programming"[ 5, 10 ]

=> "programmin"

"ruby programming"[ 5, 10 ]
m|i|n|eg => "programmin"

[ £38D 1 FXFFHIFTOBEDXFELTHRDNS |\

58

XFED#EE WD

irb(main):001:0> "abcd".upcase
=>"ABCD"

irb(main):002:0> "ABCD".downcase
=>"abcd"

irb(main):003:0> "abCD".upcase
=>"ABCD"

irb(main):004:0> "abCD".downcase
=>"abcd"
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NoMethodError: undefined method “length' for 2:Fixnum

from (irb):1 2 length |3 HRE R AT HE

from :0

irb(main):002:0> ("abcd"*2).length
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irb(main):004:0> "abcd"[0..2].length

=>3

"abed"[0.2]ETLI=E, ZTDFER "abc" lengthEEAT

60




B KYAARELEED

irb(main):020:0> "abcd"-"ab"

NoMethodError: undefined method °
from (irb):20
from :0 XFHR L D5 EE T AT HE
irb(main):021:0> 2*"abcd"
TypeError: String can't be coerced into Fixnum
from (irb):21:in
from (irb):21
from :0
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irb(main):001:0> 1 + "abcd" %;&&X?ﬁﬂ@ﬁbﬁli*ﬁlﬁﬁ

TypeError: String can't be coerced into Fixnum
from (irb):1:in "+'
from (irb

ir»b(nmin):()()Z.()B 1+1.0 LN OD B LB I AT BE

62

BIZKYR AR EREQ

irb(main):( 3.length
NoMethodError: undefined method “length' for

from (irb):4 ey —
from :0 BB length (TR TSR

irb(main):008:0> "abed".reverse.length

=1

irb(main):009:0> "abcd".length.reverse

NoMethodError: undefined method ‘reverse' for 4:Fixnum
from (irb):9 -
from -0 "abed".length TR (4) L7zY),
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irb(main):001: irb(main):010:0> 0.9999999999

= 0.9 => 0.9999999999

irb(main):002: -99 irb(main):011:0> 0.99999999999
=> 0.99 => 0.99999999999

irb(main):003: -999 irb(main):012:0> 0.999999999999
=> 0.999 => 0.999999999999

irb(main):004: -9999 irb(main):013:0> 0.9999999999999
=> 0.9999 => 0.9999999999999
irb(main):005: -99999 irb(main):014:0> 0.99999999999999

=> 0.99999 => 0.99999999999999

irb(main):006: -999999 irb(main):015:0> 0.999999999999999
=> 0.999999 => 0.999999999999999

irb(main):007: -9999999 irb(main):016:0> 0.9999999999999999
=> 0.9999999 = 1.0

irb(main):008: -99999999 irb(main):017:0> 0.99999999999999999
=> 0.99999999 = 1.0

irb(main):009:0> 0.999999999

=> 0.999999999 7\
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== % 3==2 false
> X 4>2 true
< I\ 4<2 false
>=  Kor¥ 4>=2 true
<= INorZE 4<=2 false
I= JEE 31=2 true
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s ° HETIREF irbmain): irb(main):036:0> 2.1 < 2.2
. . => true - t
irb(mai I"I) :001:0> 'irbima'in): 1'|>"b(r;§(1'en):037:0> 2.1 2.2
=> true => true —> false
irb(main):002:0> ,?i;gitfj‘ﬂ-: L,L\i% I:bf‘!?;z): irb(main):038:0> 2.0 ==
_ ¢ = 5 => true
T>b‘Er“? 1:003:0 E—Ttrue ZRY irb(main): irb(main):039:0> 2 < "2"
ir fm?1n . 0> %?bE;:gn) ArgumentError: comparison of Fixnum
=> |Talse il in): 1 : N
irb(main):004:0> —> true v St;lgg ](c?”rg;(:jw:in <!
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[N - => .
irb(main):005:0> EHEAAELALN irb(main): 1‘rb(main§:r8 ;8>
E'/*\—Jﬁl].‘ N N => true
tﬁ:‘ “JﬁéL_g‘_ irb(main): - = .
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HBEREFOQ

irb(main):001:0> (5+4) < 20
=>true

irb(main):002:0> (2+3) ==
=> false

irb in):003:0> (2+3) == (10-5

ro(man)003:0> (2322109 y——
irb(main):004:0> (2+3) I= (10-5)

irb(main):001:0> "abcd" size < 4 "abed".sizel T TEH4LLD
=> false

—false
irb(main):002:0> "abcd".upcase == "ABCD"

=>true
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irb(main):040:0> 2.0/3
=> 0.666666666666667
irb(main):041:0> 2.0/3 == 0.66666666666666

=> false

irb(main):042:0> 2.0/3 == 0.666666666666666666666
=> true
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- B AT
"3 4o | fB.t0 i
"3"to i +5

7\
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irb(main):001:0> 3.1415.to_i

= 3

irb(main):005:0> "3".to_i

= 3

irb(main):009:0> "3" + 5

TypeError: can't convert Fixnum into String

from (irb):9:in "+' :
from (irb):9 XFH|EEHD R
from :0 LE(EFATEE

irb(main):006:0> "3".to_i + 5

= 8
- XA BT
BT BT

INSEIADERD

INBR I
3.to f

NGB
"3.1415" to_f .o f

"3".t0_f

"3.1415".to_f* 2.5
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irb(main):001:0> 3.to_f %ii“ Zi
=> 3.0 - = 75
irb(main):002:0> "3.1415".to_f jC—?ﬁU’\Im
=> 3.1415 3.1415.t0_s Y
irb(main):003:0> "3".to_f - ﬁﬁ.tois
= 3.0 —
irb(main):004:0> "3.1415".to_f*2.5 3to_s+"5
=> 7.85375
3.1415.t0 s * 2
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irb(main):007:0> 3.to_s irb(main):007:0> "3.1415" to_f
=>"3" =>3.1415
irb(main):008:0> 3.1415.t0_s i_fg<f3“aiH>1008¢0> "3.1415%0_fto i [ Py
=>"3.1415" irb(main):009:0> "3.1415" to_f.to_i.to_s
irb(main):009:0> 3.to_s+"5" =>"3"
—, N IN— B ICE R
=>"35
irb(main):010:0> 3.1415.to_s*2
=>"3.14153.1415" v\ Y\
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REQ(XFHN D)
BRENESILDINEZZTTSL

@ ("abcd" + "efg" ).length

@ (("abcd" + "efg" ) * 2 ).length

« HERE? « HERIE? @ "ruby programming".length + 5
Y\ @ "ruby programming".length + 5.0 v
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@ (3.1415* 2).to_i

BRENESIGEINEZZATTSN

@ 3/2
@ 340 f/ 2

@ 3.1415.40_i +2.to f
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V4 \
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BRENESIGDINEZZATTSN

@ 3to s*2
@ 3.1415.to_s.length
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